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Relative to the origin O. the position vectors of two points 4 and B are aand b

respectively. The vector A is a unit vector which is perpendicular to a+3b. The angle

between a and bis 22,

@) Showthat [b| :% . 4]

(i) By expanding (b—2a)(b—2a). find the exact value of [b—2a]. 4]

(ifi) The point P divides the line 4B in the ratio A:1— 4. Find the arca of triangle
OAPn terms of 4. 5]
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Q4 | Solution
@ | a(a+3b)=0
Jaf +3a-b=0

1+3a-b=0 since ais a unit vector
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Since angle between a and b is =
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)1 (b-2a)(b-2a) =[b-2a]
\bf +4Ja]’ ~dab =[b—2a]
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[b—2a= \/7 EVE

(iii) | By Ratio theorem.
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